# AROUND THE FURUTA INEQUALITY THE OPERATOR INEQUALITIES $\left(A B^{2} A\right)^{3 / 4} \leq A B A \leq A^{3}$ 

DERMING WANG<br>Department of Mathematics<br>California State University, Long Beach<br>Long Beach, California 90840

(Received July 21, 1993 and in revised form November 5, 1993)

Abstract: For positive operators $A$ and $B$ with $A$ invertible it is shown that $\left(A B^{2} A\right)^{1 / 2} \leq A^{2}$ implies $\left(A B^{2} A\right)^{3 / 4} \leq A B A$. The inequalities in the title for $0 \leq B \leq A$ are then derived as a consequence.

## KEY WORDS AND PHRASES. Positive operator, operator inequality, the Furuta inequality 1991 MATHEMATICS SUBJECT CLASSIFICATION CODE. 47B15

## 1. Introduction.

In this paper operator inequalities centered around the celebrated Furuta inequality are considered. As motivation, we begin with a brief account of the origin of the inequalities in the title.

We consider (bounded, linear) operators acting on a Hilbert space. For an operator $A$, we write $A \geq 0$ (or $0 \leq A$ ) if $A$ is a positive operator. For positive operators $A$ and $B$, we write $A \geq B$ (or $B \leq A$ ) if $A-B \geq 0$.

It is well-known that $0 \leq B \leq A$ implies that $B^{r} \leq A^{r}$ for every real number $r$ with $0 \leq r \leq 1$. Thus, $0 \leq B \leq A$ implies $B^{1 / 2} \leq A^{1 / 2}$. But, in general, $0 \leq B \leq A$ does not necessarily imply that $B^{2} \leq A^{2}$. In [1], the following conjecture was raised:

$$
\begin{equation*}
\text { If } 0 \leq B \leq A \text {, then }\left(A B^{2} A\right)^{1 / 2} \leq A^{2} \tag{1}
\end{equation*}
$$

This conjecture was answered affirmatively by Furuta [2]. Indeed, Furuta proved a more general inequality that contains inequality (1) as a special case:

The Furuta Inequality. For $p, r \geq 0$ and $q \geq 1$ with $p+2 r \leq(1+2 r) q$,

$$
0 \leq B \leq A \text { implies }\left(A^{r} B^{p} A^{r}\right)^{1 / q} \leq A^{(p+2 r) / q} .
$$

Setting $p=q=2$ and $r=1$, The Furuta inequality becomes (1). Furuta also observed that setting $p=2, r=1$ and $q=4 / 3$, a stronger inequality resulted:

$$
\begin{equation*}
\text { If } 0 \leq B \leq A \text {, then }\left(A B^{2} A\right)^{3 / 4} \leq A^{3} . \tag{2}
\end{equation*}
$$

That (2) implies (1) can readily be seen by taking the $2 / 3$-power of both sides of (2).
After the appearance of Furuta's original paper [2], Kamei [3] gave a direct proof of inequalities (1) and (2) using the special notion of operator means. More recently, Furuta [4] constructed the operator function $G_{r}(p)=\left(A^{r} B^{p} A^{r}\right)^{(1+2 r) /(p+2 r)}$ for $A \geq B \geq 0, r \geq 0$ and $p \in[1, \infty)$, and showed that $G_{r}(p)$ is a decreasing function on $[1, \infty)$. In particular, $G_{1}(2) \leq G_{1}(1)$. This yielded the following improvement of (2):

$$
\begin{equation*}
\text { If } 0 \leq B \leq A \text {, then }\left(A B^{2} A\right)^{3 / 4} \leq A B A \leq A^{3} \tag{3}
\end{equation*}
$$

The main result of this paper is to show that for positive operators $A$ and $B$ with $A$ invertible, the inequality $\left(A B^{2} A\right)^{3 / 4} \leq A B A$ is a consequence of the inequality $\left(A B^{2} A\right)^{1 / 2} \leq A^{2}$. We also establish inequality (3) as a corollary of our result by giving a new proof of (1) which appears to be simpler than those of [3], [5] and [6]. Our proof is completely elementary. It was inspired by the work of Pedersen and Takesaki [7].

## 2. The Main Result.

Theorem. Suppose $A$ and $B$ are positive operators with $A$ invertible. Then

$$
\left(A B^{2} A\right)^{1 / 2} \leq A^{2} \quad \text { implies }\left(A B^{2} A\right)^{3 / 4} \leq A B A
$$

Proof. Let $T=A^{-1}\left(A B^{2} A\right)^{1 / 2} A^{-1}$. The assumptions imply that $0 \leq T \leq I$, the identity operator. Simple calculation shows that $B^{2}=T A^{2} T$. Now

$$
\begin{aligned}
{\left[A^{-1}\left(A B^{2} A\right)^{3 / 4} A^{-1}\right]^{2} } & =\left[A^{-1}(A T A)^{3 / 2} A^{-1}\right]^{2} \\
& =A^{-1}(A T A)^{1 / 2}(A T A) A^{-2}(A T A)(A T A)^{1 / 2} A^{-1} \\
& =A^{-1}(A T A)^{1 / 2}\left(A T^{2} A\right)(A T A)^{1 / 2} A^{-1} \\
& \leq A^{-1}(A T A)^{1 / 2}(A T A)(A T A)^{1 / 2} A^{-1} \\
& =A^{-1}(A T A)^{2} A^{-1}=T A^{2} T=B^{2}
\end{aligned}
$$

Taking square roots, we have $A^{-1}\left(A B^{2} A\right)^{3 / 4} A^{-1} \leq B$ and hence $\left(A B^{2} A\right)^{3 / 4} \leq A B A$, and the proof is completed.

Corollary 1. If $0 \leq B \leq A$, then $\left(A B^{2} A\right)^{3 / 4} \leq A B A \leq A^{3}$.
Proof. Without loss of generality, assume that $A$ is invertible. In view of the theorem, it suffices to establish the inequality $\left(A B^{2} A\right)^{1 / 2} \leq A^{2}$. Again we employ the idea of Pedersen and Takesaki. Let $S=A^{-1 / 2}\left(A^{1 / 2} B A^{1 / 2}\right)^{1 / 2} A^{-1 / 2}$. Since $0 \leq B \leq A, 0 \leq S \leq I$ and $B=S A S$. Thus

$$
\begin{aligned}
\left(A B^{2} A\right)^{1 / 2} & =\left(A(S A S)^{2} A\right)^{1 / 2}=\left(A S A S^{2} A S A\right)^{1 / 2} \\
& \leq\left(A S A^{2} S A\right)^{1 / 2}=A S A \leq A^{2}
\end{aligned}
$$

This completes the proof.
The following improvement of (1) is a consequence of Corollary 1.
Corollary 2. If $0 \leq B \leq A$, then $\left(A B^{2} A\right)^{1 / 2} \leq(A B A)^{2 / 3} \leq A^{2}$.
Corollary 3. Suppose $A$ and $B$ are positive operators with $A$ invertible.
(a) Then, $\left(A B^{2} A\right)^{3 / 4}=A B A$ if the operator $T=A^{-1}\left(A B^{2} A\right)^{1 / 2} A^{-1}$ is a projection.
(b) If, in addition $B$ is invertible, then $\left(A B^{2} A\right)^{3 / 4}=A B A$ if and only if $A=B$.

Proof. (a) If $T$ is a projection then $T^{2}=T$. In this case, the only " $\leq "$ in the main body of the proof of the theorem becomes " $=$ ".
(b) If $\left(A B^{2} A\right)^{3 / 4}=A B A$, then the occurrence of " $\leq$ " mentioned in (a) again becomes " = ". If $B$ is also invertible, then $T$ is invertible. Consequently, $T^{2}=T=I$ and hence $A=B$.

## REFERENCES

1. CHAN, N. N. and KWONG, M. K. Hermitian Matrix Inequalities and a Conjecture, Amer. Math. Monthly, 92 (1985), 533-541.
2. FURUTA, T. $A \geq B \geq 0$ Assures ( $\left.B^{r} A^{p} B\right)^{1 / q} \geq B^{(p+2 r) / q}$ for $r \geq 0, p \geq 0, q \geq 1$ with $(1+2 r) q \geq p+2 r$, Proc. Amer. Math. Soc. 101 (1987), $85-88$.
3. KAMEI, E. Furuta's Inequality via Operator Mean, Math. Japon. 33 (1988), $737-739$.
4. FURUTA, T. Two Operator Functions with Monotone Property, Proc. Amer. Math. Soc., 111 (1991), 511-516.
5. FURUTA, T. $A \geq B \geq 0$ Ensures $\left(B A^{2} B\right)^{1 / 2} \geq B^{2}$, Amer. Math. Monthly, 95 (1988), 933-934.
6. WANG, D. The Polar Decomposition and a Matrix Inequality, Amer. Math. Monthly 96 (1989), 517-519.
7. PEDERSEN, G. K. and TAKESAKI, M. The Operator Equation $T H T=K$, Proc. Amer. Math. Soc., 36 (1972), 311 - 312.
